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Class/omework

Page 234 - 236

(No algebra tiles just combine
like terms and subtract)

7, 8, 9(ab), 10(b),
13(ab), 15, 16(a)
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7. Use algebra tiles to model each difference of
trinomials. Record your answer symbolically.

a 32+ 25+ 4) - (28 +s+1) h(3F-0+4)- (1 -5+1)

Bt 4 As v —25t -5 - 3t -5t Y 25t s |
3t - st + s -S54 35t - 2st Qs 454 Y-
ST 4 s 3 sT s 43
Q) (37— 25— 4) — (<257 +5 - 1) (=3¢ +25-4)- (2 -5-1)
35T 2s-4 425" -5 4] 35425 - Y —AsT s+

351495t -9s-5 - dt!

95095t +2s 45 -t

2
- -3
5s oo -55" + 3s -3
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8. Use a personal strategy to subtract. .
Check your answers by adding.
ay Bx+7) —(—2x—2)
x +1+Ax ¥
Yx +Ax +1 12 |

Fx +19

g (=3x+5) — (4 + 3)
“3x +5 =Yx -3
“3x-Yyx +5->

~Ix +L
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b) (F + 4b) - (=3b° + 7h)
b? +'b + 3b* - b
bt 43btHib-Th

Yp* -3b

d) (4-5) - (<Tp+3)
H-5¢ +7p -3
~Spt 1P + 4y-3
ap + 1|
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o) (6x2+ 7x+9) m1]

6X + 3x +9  —Yx® -3y - |
b -4 F¥x- 9|

ax'a‘ +4% + 9

h) (1 =3r+ ) — (4r+5— 37
-3 40> —4r -5 437

Y

4 -0y
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i (1202 —dm+7) — (8m* +3m—3)
[Qmt-4m 41 —8m" -3m+3
1A - Frn® —l4m -Bm+ T

February 22, 2021
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9. The polynomial 4n + 2500 represents the

cost, in dollars, to produce n copies of a CO I our co p | es

magazine in colour. The polynomial
2n + 2100 represents the cost, in dollars, to COSt more

produce 7 copies of the magazine in

black-and-white.

a) Write a polynomial for the difference in
the costs of the two types of magazines.

(4n+2500) -(2n + 2100)
Yn +2S00 - An -2100

Yn-on +3S00 -3[o0
AR HUOP

—

b} Suppose the company wants to print
r\{SGOU magazinesj How much more does it
cost to produce the magazine in colour
instead of black-and-white?

n + OO
2 (009 1100

booo 1400

Y4oD
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10. A student subtracted
(2x* + 5x + 10) — (x* — 3) like this:

2" +sx+ 10) - (< -7)

:2,;(2+§?<+ \O'?‘Z'J"%
l

= xF + §x+ 10

(2x2 + 5x + 10) g(}:?ya)

L

Ax + Scth —X + >

W 1% +S5¢ +12¥3

XQ + 9% + 13
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12. A student subtracted like this:

(0339 49) + (-85 )

* 0.“3“ -35-55 ‘\‘S"'a
- LS

flﬁ—%f‘?l-i‘ff“‘?_?t.”- Lt L

= k=
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13. The perimeter of each polygon is giveil.

;_';e;iin—’l_inle:ach unknown length. (bv\/ 1 ‘{) _ (1 “H.g) -(QVJ g%)

2w+ 3 0 ((o"‘“'lq) ..1.,,1 =) W =%
1 1 bW -W-Aqw +MN-3-3

2w+ 3 v 13

S0
W)
b) 75+ 7 - QJ' 1:}) - (?)S-I-ZD'(?)S-I-&)
13
2 Fstd Bed TN

F5-%—35 +3-2-3
L

(8 +3§
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15. Subtract.
a) (rr — 3rs + 58%) — (=2r — 3rs — 55%)

r q-’.)l’S'\' 55.\ t ‘lfq-l-’hgq. iy

(+3r7 “3(sr s +53 458
— L —

3>+ 10s™

d) (9¢ + 9f — 3> + 4f%) —
(—f* = 2e* + 3f — 6e)

Qe +9F -3¢ +4F°

&) (5cd + 8¢ — 7dH) — (3d? + 6cd — 4c?)
1 +5c-1 + 4E—ped -3
8™ 44c +Sed-bed —H -3

ot g —J
e - -lod

+ f142e -3 4be

- gk sad 4T 4 fedbe HHCOE

= *Q?‘ + 5-‘,_9. ¥ ISe +6F

10
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15. Subtract, @

/PQ/—%\’S +S%q+’l/ﬁ‘( 4+ 3¢rs + OS5

- pu QS}
™ +3c — F S5rS + 55+

o> — 108~

11
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d) (¢ + 9f — 3¢* + 4f7) - (—F* —0e™ +3F —60)

0 -
qQe 4932 Lee® L £° 4 e -df tbe

£ £ =3+ 2

S 2

of —le

12
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16. The difference of two polynomials is
3x2 + 4x — 7.
One polynomial is —8x? 4+ 5x — 4.
a) What is the other polynomial?

—Bxt45x- 9
Ny ax )

3xE 4 Yx —

February 22, 2021

13
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17. The diagram shows one rectangle inside
another rectangle. What is the difference in
the perimeters of the rectangles?

21 . Laurs(.

D= (@ +1) + (x3) + @c+)) 4 (4etd)
P oaxtYx+dx dlx +1 34 ¥3

Pz 1Ax 4+ 8

o

Ax+3 o

Small
P= (axt6) + (x+2)+ (ax+b) +(x+2)

Pz Axrxtox ¢X toiAI6 4D

Large - small
(19x +9) - (6x +1¢)

J]Ax +8 -Gy -1b
|Ax-6x +8-16

bx -1t

14
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18. One polynomial is subtracted from another.
The difference is —4x* + 2x — 5.
Write two polynomials that have this
difference. How many different pairs of
polynomials can you find? Explain.

(53( v Yx - 3)
<O\XL 1 X +&)

February 22, 2021

Hlany

Posj y ble
A NSLIXYS

-YxT+tAx -5

15
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